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1. (12%) For each of the statements below, answer “True” or “False” with brief explanations. No

credits will be given to answers without explanations.
(a). (3%) Any existing tax structure does not violate the utility definition of horizontal equity.
(b). (3%) Any income tax violates the utility definition of horizontal equity.
(©). (3%) Deductions generally reduce the progressivity of the income tax system.

(d). (3%) Tax credits generally increase the progressivity of the income tax system.

2. (14%) Consider a Harberger-type genétal equilibrium model with two goods, food (F) and
manufactures (M). There are two inputs, labor (L) and capital (K), used in the production of F

and M. All good produced ate consumed; there are no savings.

(a). (5%) Explain why would inputs bear some of the tax when taxing outputs? Consider a tax on F
(denoted as 1) to explain the idea.

(b). (5%) Use output effect and substitution effect to describe a scenatio where a partial factor tax
actually raises the relative price of the factor been taxed. For example, consider a tax on the K used
in the production of M (denoted as 1,,,). Explain why even though the tax is on capital, it can

make labor worse off.

(©). (4%) Desctibe a scenario such that a general tax on K (denoted as 1, ) is shared by all the labor L
in the economy. [HINT: drop one of the original Harberger’s assumptions.]

3. (15%) Use a standard two-period life-cycle model of utility maximization to answer the
following questions of a proportional income tax on savings. In answering, follow the
instructions below: (1). Use the x-axis for cutrent consumption, denoted as C;; use the y-axis
for future consumption, denoted as C,. (2). Denote the interest rate as r, and the tax rate as 1.
(3). Whenever a budget line is drawn, indicate the slope. (4). Consider only the case where the
substitution effect dominates the income effect. (5). Let both current consumption and future

consumption be normal goods.

(). (5%) Draw a figure to show the effect a proportional income tax on the savings of a saver if

interest payments are deductible and interest receipts are taxed.
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(b). (5%) Draw a ﬁguie to show the effect a proportional income tax on the (negative) savings of a

botrower if interest payments are deductible and interest receipts are taxed.

(©). (5%) Suppose now interest payments are not deductible but interest receipts are taxed

nonetheless. How does this change your answer in (b).
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5, (wZ.)Eilleen does not buy insurance: Thus keep earning $100,000 and risk losing
$60,000 if the illness happens. The probability of getting sick is 0.2.
Although she is willing to pay $16,000 to buy insurance to guarantee
compensation if theillness oceur, finally she pays $14,000. Please provide
detailed answers to the following questions.

A. Please draw a complete graph.to describe above scenario. (S points)
B. What is the risk premium? (5 points)

C. What is the loading fee? (5 points)

D. What is the actuarially fair insurance premium? (5 points)
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A, SEERIE > BUTETHEZ e Ee Ol 8 N ENEETRE?

(10%) '

B. (42 MIE2 W= (implicit rate of return) r KIS THHEFRK
RIS 1> BSERIIL TR EOTSE A NEIEER 2 (10%)

C. fEERASER (retirement effect) ? FFERIFAEZEERATBERT @ BUTHE
R NREETARNEE? (5%)

D. [ESEiEmERE (bequest effect) ? FIRPAEEEBUETBER T - BUFHETT
HEEEEIEE/ NREETRIIRE? (5%)
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